[image: image1.png]m Learning objective
———)

Solve missing number problems

xﬂ Basic questions )

@ What number does cach O in the following number sentences stand for?

@Q+28=17.2 ®10.3-Q =4.7
@)= o
@O x6=120 @120+ =9
= Ot
©@OxO =8 ®O+O+O =%
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@O+13+7.7=14 m15.2-3.4—0 =16
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@ What digit docs cach A\ in the following column calculations stand for?
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[image: image2.png]@ Look for paterns and then fill in the brackets,
@1,5,9,13, », 21, 25, 20, [7J, 37,

¥O=¢ )

) 0.3,7.7,0.5, 7.4, 0.7, O, +#. 6.8, 1.1, 6.5, ...
O= k)

(€24, 8, 16, [J, 64, 128, %, ...
O Vi)
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@ Fill in the brackets. (Note: “natural numbers” arc positive integers, that i
2, %550 0

(@ In %X 71+ <500, the greatest natural number that can be filled in
e

(& In 100>[7%9>30, the natural numbers that (7 can stand for are (

(© I 125+0=10 1 5, then the number that O stands for is ( ),

@ If 124 G=3X<, then the number that < stands for is ).

3
3+, Challenge and extension questions

® What numbers do /A and O stand for?

6 Look for patterns and then fill in the () with suitable numbers.
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Use mental and written methods to add and subtract decimals

¥ Basic questions j

@ Work these out mentally. Write the answers,
@ 0.2X100 =

1 .2
(@ 1—0.0 0 25.2—5.
(®3.3+7. (h)8.8—1.5— €)9.840.3+9.7=
D1-0.2540.75= W 7.6X10 18.2-3.140.0=

(m)1.240.18—1.240.18=  (n)0.3640.9+0.64+8,

2 Use the column method to calculate. (Check the answer to the question marked
with *.)
(a) 98.27+2.73 = T(0)2.3-0.23=

@ First. find whether the following questions are the same and then work them out

step by step.
(@) 92.8—52.6+27.4 (b 92.8— (52.6+27.4)

@ Calculate smartly.

+7.9-1.82
(@)5.78+4.5+4.22 (b)4.8247.9~1.

(©) 84, 67— (14.67+15.3) (d) 31.2+24.58—11.2+16.42
© 84, 67— (14. B




[image: image4.png]@ Multiple choice questions.
(a) When *07 is added o the end of cach number., the number that will change

value is € ).

A 0.24 B.2 C. 2.4 D. 24.00
(1) Calculating 8. 06 < 100 X 10, the resultis C ).

A. 0.806 B. 8.06 C. 80.6 D. 806

(e In 20.01, if the decimal point is first moved three places to the left and then
one place to the right, the resultis ().
A. 0.02001 B. 0.2001 C. 2.001 D. 20.01

() Put 5600 m, 5 km 60 m, 5.006 km, 5 km 660 m in order, from the greatest to
the least. The second number is ().
A. 5600m B.5km60m  C.5.006km  D.5kmG660m

@ Unit conversion. Fill in the blanks.

@ 1.35 kg = 3 (b) 780 kg t
©15.41= ml ()30 000 m I
©0.08m em ) 8080m km
@ 4.2kt i 0.5k 3
@ 1000 ) 150 cn

@ Application problems.

@) A rope was originally 10 m long. First, 2.8 m of the rope was cut off and
then another 4.2 m was cut off. What is the length of the rope remaining?

() Tom had £580 in his savings. After he spent £60 on stationery and £42. 80
on books, how much money did he have left?

a Challnge and extension quesion_y

@ Given that (@) stands for a-+a-+a , and [b] stands for b—0. 25, calculate the following.

@@ 3+0d ®(3)





